2018 - 201 Fib| BAE & k0=t IARETE R

-5 ADCPBD 6-1o CDAC B

i, 1B 2. 3 3. 2

14 _ 20 5. 2(xty) 16, 30°

= BRERR
(7. BB BN

X =axy+4y*+ x°- exy +xy -ay?
= 2x*- Txy

A5 g5 WA 20-Txy & | {9

2x5 - Tx5x5 = 43
59 BN E9TE % 42,

8. B, A, . - &

A2 k#t) (x-2)

A(Xt)-xen(x-2) = 6
X6 x -X'tbxe2 = 6
b R #2

=320
BHE b X207 aapomro
0 x-428 B 57 sy M TER.

9. &8 U a’b -9ab (2) 40b” - 4ab +p
= ab[al-‘:)}
- oblat3)a-3)

O 4b*-4b+1)
a(2b-1)?

A N ]

1

E%3E
%% 0O 00000 00od



21 BR. 0 7 RLAAPB Fo REABCA ¥
ap = AC
{,45 = BA

< RtAADB 2 Rtd4RCA (HL)
. BC=AD =6
sy BCEIR H 6.
2) &) ko Rt AADE ‘L2 LtABCA
-, AD = BC
fc OADE v ABCEF
D= ¢C=o
{ADEF\ = LCER
AD = BC
~ AADE @arcE (AAS)

2. #. O k@, secDEF §THRAPHEY

g @Tf‘?ﬁ = .'_30_‘%1;2—, = 120°

+ ¢(E-tF -cB=4C " (FAB = £EDC =)20°

- LFt CFAD = |20 + 6o = 180°
. EFII AD
- LEt+LADE =18
- LADE = Q" - ¢E = bo

(2) . ¢BAD = L FAB-LFAD= {0’
R 2 LBAD* LB = 60°t 1207 = 180"
CoAbnec . EFNBC

B

E%5E]
%@ 0 00000 0000



2%, u) E6§. ﬁﬁ quyamc , I?E.LAB'DFJ-AC

~. DE=DF A
% Rt AADE F° RtAADF ¥
D€ = PF :
AD = AP r
~ RtAAPE 2 mtapoF (HL)
*. CADE :ZADF B DZ C
# 4 EoD o aF0O F
&ADE =DF
ZEDD =L FbO
oD = oD
. 4E0D 2 AFoD (445)
. OE =OF  £EoD = £Fop
R £ EoD+t ¢FoD = (8o®
~. <€op =<fop =90
- AD&EB ¥% EF
m D
@ % 28 geef
wE L& ATEAGLBC , AGEYHh
" Sank - —Z'-xap‘h ' g‘-"ﬂoc: Er"‘CDah
Canps _ b
Sasoc cb
X SAHDB: ?' x AB xDE , SAADC = ;"KAC x DF ’ DE;DF
| Sapn . Ab
Seac A
Ae | BD
¢ ~¢D
OR*0

O

O oboudb oooo



20, () B & PN BEBRER Y Xuf) BN BEE D 12 Amfmin
SER o b0

—

A 1.2%

A O . %=5R B H HEIR.
BB = BB BEGEE % Smimin.

20 ﬁfg%:g

@) BB, & FowBEEH V , RIB-ABH KU HREE S

J_hoe g TR LIPL R

v kv ’ t

P BEEEE Y Lf:_%)_"._ |

25. () &8+ anpc P AceoRFAFER < B
o, AB=BC , OB=BD LABC = LoD =9e"
" LAPo+ LOBC = LCRBD+ L0BC
. ZAPBO = £LCBD
% aABO F° ACBO ¢
AB = BC
o
0B = BD
J. 4AR0 L2 AcBD (54%)
oL LB = £CDB
) RLAB BN x | 7) LCPB=%

LEDO= K- 45°  srop = £COB- £DOB = 3~ 40" X - 457 = (70 - x
LOCD = 8- £CbO - £coP = 50°

0% £coo = £oob B, A-457=(1C7-X  #RiF X=(10°

@% ocpo = LocD B, X-45": B PBiFx =95

©% £Cop = £ocbaf, (TL-#5=57 ARIS x= 28

g chop B9 Bl B 10" 3 95° ax 128"

(1}

E%E
%% 0 OODO00 0000



